1974 4EHURHEE [2] 3 [2] 4k
(1)

ES 1o omio sz, P(p, p?), Q. g%) (p<q) £ 15, MK y) &T+5L

(_a+p
2

12 =(q— p)? +(a? - p2)2 =(q- p)* {1+ (@ + p)?}

2

g+p=2x —O

|
OB -p)?= 2 _4pg=4x? —4pg= =x2— S
(-p)* =(a+p)* —4pq=4x Pa=1"3 pq W)
2 2 2
e e  E NOENY
12 12
.'.y=2x2—{x2— . }=x2+—2
4(1+4x?) 4(1+ 4x?)
2
y Wi/ NS IR K, f(x):x2+|—2}:ﬁ”é}:
4(1+ 4x?)
2\2 2 2 2
00— 2x 12 8% _2x{@+4x3)2 12| 2x(@+ 42 + 1)L+ 4XP )
41+ 4x%)? (1+4x%)? (1+4x%)?
=10 & & 1+4x° —1=4x>=0 X 0
%H%i@\fWHihm®k%%¢ﬁ%%kéo oo | — o |+
) | /!
IS1DL & 1+4x% —1=(2x+/1-1)(2x—1-1)
%ﬁ%i@\faﬂikdvtl®k%@¢&ﬁéo
X O B 0 Vi-1
I-1) 1-1 |2 1, 1 2 2
fl+ = + ===
2 4 A(1-D+1 2 4 ) | — 0 + o] = 0 n
) |\ v . /!
PLEIZEY . kDD M OFEEI |=1o><k%5<[0,%j\ |>1@&%(¢“'2_1,E|—%j ------ (%)




